



namn: _____

Datum: _____ Poäng: _____

$$7^2 - (-3) =$$

$$5 + 1 =$$

$$1^2 - (-9) =$$

$$(-6)^{(-2)} + 9 =$$

$$8^{(-1)} + (-5) =$$

$$8^{(-2)} + (-4) =$$

$$(-3)^2 - (-5) =$$

$$(-6)^0 - 10 =$$

$$5^{(-1)} - 7 =$$

$$(-5)^{(-2)} + 9 =$$

$$7^0 - 9 =$$

$$(-2)^{(-1)} + (-9) =$$

$$7^{(-1)} + 8 =$$

$$4^{(-2)} - (-4) =$$

$$7 - (-9) =$$

$$10^2 - 10 =$$

$$(-8)^2 - (-3) =$$

$$4^2 - (-2) =$$

$$(-4)^{(-1)} + 2 =$$

$$2^0 + (-8) =$$



namn: _____

Datum: _____ Poäng: _____

$$7^2 - (-3) = 52$$

$$5 + 1 = 6$$

$$1^2 - (-9) = 10$$

$$(-6)^{(-2)} + 9 = \frac{325}{36} = 9\frac{1}{36}$$

$$8^{(-1)} + (-5) = \left(-\frac{39}{8}\right) = \left(-4\frac{7}{8}\right)$$

$$8^{(-2)} + (-4) = \left(-\frac{255}{64}\right) = \left(-3\frac{63}{64}\right)$$

$$(-3)^2 - (-5) = 14$$

$$(-6)^0 - 10 = (-9)$$

$$5^{(-1)} - 7 = \left(-\frac{34}{5}\right) = \left(-6\frac{4}{5}\right)$$

$$(-5)^{(-2)} + 9 = \frac{226}{25} = 9\frac{1}{25}$$

$$7^0 - 9 = (-8)$$

$$(-2)^{(-1)} + (-9) = \left(-\frac{19}{2}\right) = \left(-9\frac{1}{2}\right)$$

$$7^{(-1)} + 8 = \frac{57}{7} = 8\frac{1}{7}$$

$$4^{(-2)} - (-4) = \frac{65}{16} = 4\frac{1}{16}$$

$$7 - (-9) = 16$$

$$10^2 - 10 = 90$$

$$(-8)^2 - (-3) = 67$$

$$4^2 - (-2) = 18$$

$$(-4)^{(-1)} + 2 = \frac{7}{4} = 1\frac{3}{4}$$

$$2^0 + (-8) = (-7)$$